M = 10

0, 3, 6, 9, 1, 4,7, 2, 5, 8

	Предшествующее состояние автомата a(t)
	Последующее состояние

автомата a(t+1)

	
	при x(t)=1
	при x(t)=0

	a0
	0000
	A3
	0011

	a 3
	0011
	A6
	0110

	a 6
	0110
	A9
	1001

	a 9
	1001
	A1
	0001

	a 1
	0001
	A4
	0100

	a 4
	0100
	A7
	0111

	a 7
	0111
	A2
	0010

	a 2
	0010
	A5
	0101

	a 5
	0101
	A8
	1000

	a 8
	1000
	A0
	0000


	№
такта
	Предшествующее
состояние
триггеров
регистра
	Последующее
состояние
триггеров
регистра
	Сигналы управления
триггерами

	
	Q4
	Q3
	Q2
	Q1
	Q4
	Q3
	Q2
	Q1
	J4
	K4
	J3
	K3
	J2
	K2
	J1
	K1

	0
	0
	0
	0
	0
	0
	0
	1
	1
	0
	X
	0
	X
	1
	X
	1
	X

	3
	0
	0
	1
	1
	0
	1
	1
	0
	0
	X
	1
	X
	0
	X
	X
	1

	6
	0
	1
	1
	0
	1
	0
	0
	1
	1
	X
	X
	1
	X
	1
	1
	X

	9
	1
	0
	0
	1
	0
	0
	0
	1
	X
	1
	0
	X
	0
	X
	X
	0

	1
	0
	0
	0
	1
	0
	1
	0
	0
	0
	X
	1
	X
	0
	X
	X
	1

	4
	0
	1
	0
	0
	0
	1
	1
	1
	0
	X
	X
	0
	1
	X
	1
	X

	7
	0
	1
	1
	1
	0
	0
	1
	0
	0
	X
	X
	1
	X
	0
	0
	X

	2
	0
	0
	1
	0
	0
	1
	0
	1
	0
	X
	1
	X
	X
	1
	1
	X

	5
	0
	1
	0
	1
	1
	0
	0
	0
	1
	X
	X
	1
	0
	X
	X
	1

	8
	1
	0
	0
	0
	0
	0
	0
	0
	X
	1
	0
	X
	0
	X
	0
	X
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	№
такта
	Предшествующее
состояние
триггеров
регистра
	Последующее
состояние
триггеров
регистра
	Сигналы управления
триггерами

	
	Q4
	Q3
	Q2
	Q1
	Q4
	Q3
	Q2
	Q1
	J4
	K4
	J3
	K3
	J2
	K2
	J1
	K1

	0
	0
	0
	0
	0
	0
	0
	0
	1
	0
	X
	0
	X
	1
	X
	1
	X

	1
	0
	0
	0
	1
	0
	0
	1
	0
	0
	X
	0
	X
	1
	X
	X
	1

	2
	0
	0
	1
	0
	0
	1
	0
	0
	0
	X
	1
	X
	X
	1
	0
	X

	3
	0
	0
	1
	1
	0
	1
	1
	0
	0
	X
	1
	X
	X
	0
	X
	1

	4
	0
	1
	0
	0
	0
	1
	0
	1
	0
	X
	X
	0
	0
	X
	1
	X

	5
	0
	1
	0
	1
	0
	1
	1
	1
	0
	X
	X
	0
	1
	X
	X
	0

	6
	0
	1
	1
	0
	1
	0
	0
	1
	1
	X
	X
	1
	X
	1
	1
	X

	7
	0
	1
	1
	1
	1
	0
	0
	0
	1
	X
	X
	1
	X
	1
	X
	1

	8
	1
	0
	0
	0
	0
	0
	0
	0
	X
	1
	0
	X
	0
	X
	0
	X

	9
	1
	0
	0
	1
	0
	0
	0
	1
	X
	1
	0
	X
	0
	X
	X
	0
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